
 

 

Пример РЕШЕНИЯ задачи № 11 с полным ветвлением 

 

Пример РЕШЕНИЯ задачи № 10 с кратким ветвлением 

 Клумбы_выбор

   {

  вперед (2  );

  пока (не справа_свободно  )  

     {

    если (слева_свободно  )

       { посади  ; }

    вперед (1  );

     }

  вперед (1  );

   }

Клумбы_выбор2 

   {

  вперед (1); направо  ;

  пока (впереди_свободно  )  

     {

    вперед (1  );

    если (слева_свободно  )

       { 

      налево  ;

вперед (1  );

      посади  ; 

      назад (1  ); 

направо  ;

       }

     иначе

      { посади  ; }

     }

    направо;   

вперед (1  );

   }


